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This Question Paper consists 22 pages. Of this 29 questions for New syllabus and 32 questions for Old syllabus.

+ one outline map of India.
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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 46/0S/1-A on the answer-book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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AR AT

1

2

el YIS % UBW USS UX STUAT STghHI% Had g |

FUAT UL B A W 6 YT b FA 63 qAT U9 N Al & e & R v yes
% 999 SU B ¥ | 39 91 Bl Sd W B o [ U wiw ®U H ¥ |

TEIFTs w9t | simum! A faedt (A), (B), (C) 99T (D) ® € &3 T SUX gl & qan &
T FOC-gRaw § ey wd SO fefaw |

JERITSS Al % Fg-wg G Al % X MUiia sty & Wi 8 3 § | aggiTss el
% foq ot o wHE @ fen s |

ST-giaw ¥ wean-fE 9 sgen Midw el & sl w80 W srgwaie faes
TOEl @l g SEET SR |

SO ITT-YRABT TX TS dt s dem 46/0S/1-A fag |

() WU heael TESN/SUST § ¥ | fiey o, afy e T A e Y 1 fedll we W W S
T g €

Hicll, AT, ST, U, HeH, @@pa i e |

FuAT IAC-gRAHT 7 Ry U gte W T 76 omu Rew et § s) fow w R

(@) afy g & ua oiUw & erfafia fpdt o o & SO fomad & o w9 & 93
¥ g awtl Jfeat | it w e daw st g
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2. New Syllabus is compulsory for those who have registered for 2012-13
(Block-I) admission. (Those who are appearing in April 2013 wunder
“New Syllabus”.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
(Block- I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

: ( weamt o ) ,

1. 39 U gRae W & WeAus € ¢ Uw HeNitW Hemdw wwl woendna & fw
X A W Sifthd 9T gEU €elled § UE oiemdd annll Uy onend § o™
W QA U e § |

2. O U S qlenda & fwu etvadd § R Amies 2012-13 (st 1) o
T ¥ | (S el@ 2013 H AU weRRH & ofda qden ¥ o7 W w ¥ )

3. YOI UERRE 39 UeeEl % fau sitEn ¢ feer Amies 2012-13 (@w-1) &
UEW TAM ¥ |

4. wOedl e TRy % TR kAW UH YA Hl & Tlam & |
5. qlemedl @ & U % WA bl M@H IAT & Bl RN Gl § |
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SOCIAL SCIENCE NEW
(ariore fasT)
(213)
New Syllabus / a1 9&ERH

Time : 3 Hours] [Maximum Marks : 100
w3 E] [qee : 100
Note : (1) All questions are compulsory and carry marks as indicated against each
question.
(2) For Multiple choice questions, four options are given. You have to choose
right option and indicate it in your answer book.
(3) Attach the map with answer book.
et ¢ (1) Al weT AfEd ¥ SR U W & o SHe e Y T ¥
) Tghe e % A few B T ¥ am a8 Rew gim iR e e
R ¥ fafan)
(3) @ ™ umlE @ SO gRaw & @Y @ s s |
1 In the given outline map of India mark and label the following : 1x4=4

(1) Aravali Range
(i) Krishna River
(i) Bandipur Wild Sanctuary

(iv) One area of Himalayan vegetation

fd ™ wra & Y aetes ®§ feafafed ® suged foel g ot ek o A

faRay

() oNEdl ydd siEdr

(i) P T

(iii) FRYT T FHAE

(iv) RO aefq ot Us &
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Identify and write in your answer-book the correct names of four terminal cities of  1x4=4
North-South and East-West corridors of India shown as 1, 2, 3 and 4 in the given

outline map of India.

f@ ™ 9 & WEEhE § YRa & SaC S qor qE- uived a6

g ifam TR @ 1, 2, 3 8RR 4 ¥ Rgamn ™ %) 3% usaiNy a9 3%

el AW oI IOX gRaer ¥ faRed |

OR/3qan
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Note :
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Question No. 1 and 2.

Answer to these questions must not be in more than one sentence.

o fu T 999 Faq Eedm wlentai & fu wow @@ 1 9un 2 % WE W #)

T OUS W ¥ UAS B Sk W TH e H e |
(1.1) Give any two characteristics of Thar Desert.
(1.2) Name two major drainage systems of India.
(1.3) Write names of any two food crops of India.

(1.4) Name two major sea ports of India situated in Gujarat and Maharashtra.
(1.1) 9 v&d & @iz & awae i)

(12) 9RA & & 7@ S@ Ya@ gonfadl & M aEd |

(1.3) R & fp=l & @ ®BHal & M [Rad |

(1.4) o0 don g ® Rog 9ra & < W@ deumel & 9m fafed

Which of the following is the length of land boundary of India ?
(A) 6100 km (B) 15200 km

(C) 16200 km (D) 17200 km
e & § a9 @ 9 & | 9 # waE § 7
(A) 6100 km (B) 15200 km

(C) 16200 km (D) 17200 km

The following question are for the BLIND CANDIDATES ONLY in lieu of



4 The word mausim belongs to which one of the following languages ? 1
(A) Hindi (B) Urdu
(C) Arabic (D) Persian

frfafa wwetl & @ AfH o fog s & B9

(A) T B) ¥
(€) T (D) Wl
5 Which of the following values is not taken in the preamble of our constitution ? 1
(A) Sovereignty (B) Socialism
(C) Communism (D) Secularism

e o ¥ @& o ' d@fqum & uE o o %7

(A) T (B) wHWTER
(C) 9=ar (D) vulRuEa
6 The word democracy has its origin in which ancient civilization of the world ? 1
(A) Persian (B) Greek
(C) Roman (D) Egyptian

SHRhEl (Meds) 91 W S ER W e wwEE gwar 7 g3 7
(A) REE B) Ww
(C) v (D) MRy
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7 Mention the names of two countries which had an advanced civilization during the 2
Bronze Age ?

B GO (abia g9 a e def % W fafed |

8 Mention the two titles given by the British government to the Indians. 2

fafesr TR a0 aRaE @ & T oA SuneE % WM faiad |

9 Write two reasons responsible for the rise of communalism. 2

GIETRIehal & o7 o % SALGEME! & BIRON i Al SN

10  Define the term 'sustainable development'. 2

gy faem g @ gt fafad)

11  Describe any four features of feudalism prevalent in Europe in the medieval 4x1=4
period.

qegep W AW W UEaa amaar w fhel ar faemmet @ aue i |

12 Explain any four reasons responsible for the commencement of Renaissance in  4x1=4
Italy during the fourteenth century.

TeEdl el ¥ gl H o QoY % fod SawerEl fERl 9w st @
T BT |
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13  Explain four reasons why Britain became the first country in Europe to have an 4x1=4

industrial revolution.

forest, g & effenfis wifq @9 I wear 391 | 9 T, IR HRO TR SIS |

14 Why did the British feel a need to introduce new land settlements in India ? 1+3=4

Explain three revenue systems introduced by the British in India.

SUSH § RA H T IS UONEAl ® AR HCT B SEIAGAl FAl qHE 7
U B T@E T AN SIS YOl @l e diT |

15 Examine the state of indigenous education system of Hindus in India in the 4

beginning of eighteenth century.

HeREdl JIel & UIeH o ARG % fegent o wafwa fiten swemen @1 qliaor &ifsw@

16 Describe any four features of tropical evergreen forests of India. 4x1=4

AR & SUHESHT FEEia o @ el g fagwdaen & aui| s

17  Explain any two characteristics each of subsistance farming and commercial 2+2=4

farming practised in India.

I ¥ yatad T g aiiiae s & - fagivanet @ emen St

18 How is the road transport significant in day to day life ? Explain with four 4x1=4

examples.

ggeh AaEE S Sied # R g AeEyul § 7 R SEEl ER W &I |
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19 Describe any four features of the Directive Principle-Social and economic 4x1=4

equality'.

Afa My T amilvie ok onf¥e Tumar o fdl T fasiwamett @
U BT |

20 Define Panchayati Raj. Describe its three tiers. 1+3=4

Tl S Bl g f@fad | 389% 99 W Bl g9 diN |

21 Explain the composition of the Legislative Council of a state. 4

TH T quE afug % e @l AT &I |

22  How is the President of India elected ? Explain. 4

TR & WU @ by Tattaa fear stan 37 ausmsa)

23  Why are the political parties a must in a democracy ? Explain four reasons. 4x1=4

b= § oI Tol dl STE9Tehdl ol &7 TR BRI W Hid|

24 How does the Indian constitution promote 'national integration' ? 4x1=4

Explain four ways.

LT A@SAT B ARG Ga9 [T Y I91a1 3a7 & ¢ 9 dls T Hhiu |
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25 Explain any four strategies adopted by the centre and state governments to  4x1=4

reduce dropout rate and improve the level of achievement in schools.

faemea Bl & oI9UM & &9 HE qu1 fqer@al § Suaiy @) B Son % W &=
3R T @Rl N SR T TRl 9 dieell @l e difg |

26 Give an account of the Santhal rebellion of 1855-57. 5

1855-57 & Hu@ [agiE @1 feravor g

27 Why and how was the Muslim League formed ? Explain. 5

JREH @ @ Mo Rl X fPE wer gen ! me wif |

28 Examine the factors which influence the distribution and density of population 5

in an area.

el & o ST % O quT fadRer @l quiad @iy 9 iRl hl TIE
BT |

29 Assess the role of agencies which help in the formation of public opinion. 5

S S AW Y@ ATHEION @l T BT STeET iy |
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SOCIAL SCIENCE OLD
(armtae fasm)
213)

Old Syllabus / JUAT 9T&rRA

Time : 3 Hours] [Maximum Marks : 100
3 Hud] [quie : 100
Note : (1) All questions are compulsory and carry marks as indicated against each
question.
(2) For Multiple choice questions, four options are given. You have to choose
correct option and indicate it in your answer book.
(3) Attach the map with answer book.
fRar ¢ (1) Al wyT sifeE ¥ olR U@ U & oiF IUd 9 ¥ T ¥
(2) TGS g & AR fawer & ™ %) o @l fawer gig e el ST
gRaer § fafaw)
(3) @ ™ umlE @ SO gRaw & @Y @ s s |
1 (a) On the given outline map of India mark and locate the following with 1x3=3

appropriate symbols :

(i)

Aravali Range

(i) Mahanadi

(i) Gir Sanctuary

@ ™ IR % wmEs ¥ rEfaiad #® Suged el g aeisd el
S I faRay -

(i)

A T THTAT

(i) wEmar
(iii)) R sIwaRTg
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(b) Identify and write in your answer book names of three ports shown 1x3=3
as (A), (B) and (C) in the map of India.
fog T W & AFfes #§ A9 ToAl (SRR @ (A), (B) F@0 (C) % g
foam@n @ ¥ 3% wEEit qen Suel SO gRae W See gl AW fafed

OR/3qan
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Note : The following question is for BLIND CANDIDATES ONLY in lieu of Question
No. 1(a) and (b) :

Answer to these questions must not be more than one sentence.

I fiw U 99T Haw el wdeantdal & fiu 9sH @@ 1(a) 9o (b) & W

] ¥

fr=fafag wodt & STX otfue § offie U e ® dfWu)

(1.1) Mention the longitudinal location of India. 1
(1.2) State two factors which determine the climate of India. 1
(1.3) Define soil. 1
(1.4) Mention two food crops of India. 1
(1.5) Name any two major sea ports located on the West coast of India. 1
(1.6) What is meant by agro based industries ? 1

(1.1) IR & <=0 Rafd &1 Ied By

(12) 9T & F@ag @ THIGG BT T (el & Had &1 e S|
(13) ‘gar o1& @l uiewmn faRed )

(1.4) 9Ra & [l & @R ®Edl & A9 e |

(1.5) 9@ & ulyad e W Rom @5 & g&7 9«0 % W gl

(1.6) B onaiia warl ¥ w1 Afvy™ ¥ 7
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2 Which country was recognised as the successor of the Soviet Union after its 1
break up ?

qfead @9 & 2 & 9] fhg I @B Iak SAuEenl % &9 W AW
firety 7

3 Why is India called a republic ? Give one reason. 1

TRA & Uh TUES F ded 7 Th HRU qaEd |

4 Give one reason for why are the fundamental rights important ? 1

A SAfBR Te@qul #f &7 Tk HROT qasd|

5 How many times does a Gram Sabha holds its meetings in a year ? 1

UM 9T T 9| § fhal Soh &l &7

6 What is the meaning of unicameral legislature ? 1

Ud e fquie w1 wn ey ¥ 7

7 The First World War began in the year — 1
(A) 1910 (B) 1911
(C) 1912 (D) 1914

v fasg g8 wrow gom an, Ay -
(A) 1910 B) 1911
(©) 1912 (D) 1914
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8 In which of the following years was the League of Nations formed ? 1
(A) 1918 (B) 1919
(C) 1920 (D) 1921

frfdfaa aat & @ @ w9 Wl WO w9 gg ot ?

(A) 1918 (B) 1919
(C) 1920 (D) 1921
9 Which of the following is a popular South Indian food ? 1
(A) Chhole Bhature (B) Kabab Parantha
(C) Sambhar Dosa (D) Mughlai food

= 9 | & U At R AR e g e

(A) B 9 (B) I ISl
©) R a9 (D) grna‘s‘ ECIRll
10 In which year was the battle of Plassey fought ? 1
(A) 1657 (B) 1757
(C) 1857 (D) 1957

frg ad & <@ @1 gE @1 TEn?
(A) 1657 B) 1757

(C) 1857 (D) 1957
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11 How many members were in the Constituent Assembly of India ? 1
(A) 369 (B) 379
(C) 389 (D) 399

TR @ Gfga™ g9 o fhay d@ew 97

(A) 369 (B) 379
(C) 389 (D) 399
12 In which of the following cities was the first Municipal Corporation formed 1
in India ?
(A) Bombay (B) Calcutta
(C) Lahore (D) Chennai

TR § TSl X UICIehT el S Ty oy ?

(A) =2 (B) T
(C) WRER (D) o=
13 When was the Shimla agreement signed between India and Pakistan ? 1
(A) 1962 (B) 1972
(C) 1982 (D) 1992

AR qT TR & S e gusiid 9 &e s&ei ey ™ 97
(A) 1962 (B) 1972

(C) 1982 (D) 1992
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14 Mention any four characteristics of the Ancient Egyptian Civilization. 4

Tl gwa @GRl 9 wE fasanet @ Swe sy |

15 "The Iron Age is regarded as a remarkable period of growth of human civilization". 4

Analyse the statement.

“TrE g B ANE GEIA b SeE § UH WE@YUl HI|@ % 9 H A Sl s
9 HYT BT I BN |

16 Describe any four methods helpful in conservation of minerals in India. 4

R H W G9eEl & GXEU § e (el A Attt @ guie @)

17  Explain any four points of significance of air transport. 4

qg UiEET & HeWl % (el O fagell @ wmen @i

18 Define the term 'population’. Describe census operation. 4

SMEET 9T ] UICHTST S | SO ST T 9ol s |

19  Explain the main components of the Indian social structure. 4

ARAE G631 & G Tl &l el S |
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20 "Population of a country is its real resource” Examine the statement. 4

“fopdl 29T W THEEAT IF <91 B IRAIID GEET Bl €17 HAT BT TUALO BT |

21 Give an account of the Battle of Buxar. 4

IFRX % E B [qERe A

22 Explain the objectives of the Faraizi Movement which grew among Muslims of 4

East Bengal.

e ST H gEedEl % d| e g9 wEsl Siead b Seedl dl e
BT |

23  Explain, how we can perform smoothly our duties towards our nation ? 4

T AT T4 b U R TER ¥ U wdel @ gae &9 ¥ e &Y
Thd & ¢ WL MR

24  Describe the functions of the Panchayati Samiti. 4

Tl Gl @ ®IE Sl F9 hIT |

25  Explain with examples does the parliament keep an effective check on the 4

Council of Ministers / real executive.

Hae foe YeR armias e uiwer [ aftwg o g9 e e 87
SR Hied W iy |
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26

27

28

29

30

31
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Explain the functions of the Central Secretariat.

HE O % Bl Dl AT DI |

How did the reorganization of the states pave the path for national integration

in India ? Explain.

IRA A T % G A UK UmeRw & A fhE wer wew fean?
W HIfY |

How do we calculate human development index for comparing the quality of

human life in different countries ? Explain.

fafg=r o & AT ST & ol W gaT & o ame faem qEeie @l
T fRE WER WA €7 W dISY |

Analyze any four challenges before India in the present circumstances.

T T W MRA % gA@ uRed fedl AR gAifaal @ fasdwer @it

Explain the growth of the political institutions during the Medieval Period in India.

TRa H e & A eNiae aenel & e @l e sy

Why did a revolt break out in India in 1857 ? Explain six reasons.

qa ¥ 1857 & foEiE #&f ®a? B &Rl Bl We iy



32 Why are the provisions of justice, liberty, equality and fraternity a must in 6

democracy. Explain.

Wehasl § T, Wosdl, GHFal U7 9RAR & YEYE Bl SN0 9 SAaash € 7
TS BN
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Roll No.

Outline Map of India (Political)
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